Answers

14 + 6 = 20 @
6+14 =20
I1IS=10+ S

IS=S+10

9Q+14 =18
1+ ¢ =18

194+0,13+)12+2,11+3,10+64,3+S,8+67+7,6+8 S+9, 4+,
3+N,2+12,1+13,0+ 14

Bob is wrong. 20 has 21 number bonds. The children should write these @
=

number bonds systematically and represent them using equipment.

Bob has 20 bricks. 12 are red ‘ ‘ ‘ ‘ O
- the rest are yellow. ~
12 + 8= 20 O O O O O

g+12=20 6+4=10
+6=10

Bob has 10 pots of paint. 7

are black - the rest are white. .

7+3=1)0

3+7=10
I +19 =20

Bob has 10 buckets. 2 are 19 +1 = 20

black - the rest are yellow.
2+8=10 ‘
2+2=10

16 + § = 20
4 +16 =20

Children may also write the number sentences starting with the total,
eq.20 =16 +4
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